210-1455 Youville Drive Orleans, On K1C 6Z7 Phone: 613-837-1104

Vendor:

ORLEANS CARPET INC. 1449 YOUVILLE DRIVE ORLEANS, ONTARIO K1C 4R1 Ship To:

Site:

**RATHWELL LANDING** 

Lot/Unit:

LOT 307

Model:

1046 STANDARD

Civic:

307 HICKSTEAD WAY

tel: fax: 6138379373 613-837-5155

contact:

ORDER DATE
Jul 03, 2020

Comments/Special Instructions:

CHG. ORDER DT.

CANCEL DATE
RESPONSIBILITY
ARIEL

VENDOR #
O01
NET 30 DAYS
REFERENCE

JOB/LOT/COST	REFERENCE	Description	QTY ORDERED	UNIT PRICE	EXTENSION
056-307-680	#5, 34	CREDIT CODE 526 FLOOR TILE, ENSUITE, FIBEROCK	1.0000	-2,947.000000	-2,947.00
056-307-680	#5	CREDIT CODE 524 CARPETING, ENSUITE	1.0000	-56.250000	-56.25
056-307-680	#32	ADD CODE 524 CARPETING, 2 COLOURS, UP PAD, LEVEL1	1.0000	753.000000	753.00
056-307-680	#4, 26, 27, 28	ADD CODE 526 FLOOR TILE, BEDROOM #4 BATHROOM, FIBEROCK, UP GROUT, SILVER LEVEL	1.0000	783.300000	783.30
056-307-680	#4,5,16,17,18,35	ADD CODE 529 WALL TILE, BEDROOM #4 BATHROOM, ENSUITE, BRONZE, BRICK PATTERN, CHIMNEY HOOD FAN	1.0000	1,231.000000	1,231.00
056-307-680	#25, 34	ADD CODE 530 HARDWOOD FLOORING & STAINING -	1.0000	4,360.000000	4,360.00
					4 424 05

Authorized Signature

 Subtotal
 4,124.05

 HST
 536.13

 Total Order Value
 4,660.18

#### ORDER TERMS AND CONDITIONS

- 1. INVOICES must bear exact same prices and terms or authorization for changes must be received from our company in writing prior to shipping.
- The right is reserved to cancel all or part of this order if not delivered within the time specified.Packing slips must accompany all shipments.
- 4. In the event of interruption of our business in whole or in part by reason of fire, flood, windstorm, earthquake, war, strike, embargo, acts of God, governmental action, or any causes beyond our control, we shall have the option of cancelling undelivered orders in whole or in part.
- 5. Acceptance of this pirchase order, or shipment of it will constitute an agreement to all of its specifications as to terms, delivery and prices.
- 6. No deliveries accepted after 4:00 pm or on weekends.

Attn For Po D		Page Nº of Pages
TAPIS Prop	OSAI Job Num	iber
CERAMIC · VINYL Orleans		
CERAMIC • VINYL CARPET REG	D. Stylston of Biotal Gythulog inc.	,
449 YOUVILLE DRIVE ORLÉANS ONTARIO K1C 4R1	•	June 232020
PROPOSAL SUBMITTED TO	Rathwell Icuncli	DATE
	JOB NAME 307 model	7046
CITY, PROVINCE & POSTAL CODE	139 Hickstead W	ay
ARCHITECT DATE OF PLANS	DRAWINGS ATTACHED NO	JOB PHONE
We hereby submit specifications and estimates for:		
526#5 Spc ensuite tike	7×7.00	= 49.00
52645 Spc ensuite Fiborock	110×2.10	= 33.60
524#5 \ Spc ensuite	3×18.75	= 56-25
526#34 Kitchen tile	318x7.00=	. 2226.00
526#34 Kitchen Fiberack	304×2·10=	638.40
Add × S	EE ATTACHED EN	MIL /80.00
524#46 2 colors of carpet	1x300.00=	300.00
526#4 bod4 bath tile+Fiborock	53×9.10=	482.30
529#4 bod 4 bath (wall)	82×6.00=	492.00
529#5 Spc ensuite	76×6.00=	456.00
524#32,31 up pad	149 x3.00=	447.00
524# 36 level I coupet	24 x5,25=	126.00
526/529#28 up growt	3×35.00=	105.00
529#16,17,18 bronze + brick	56×2.50 =	140.00
529#35 chimney hood fan	18x6.00=	108.00
526#76:27 silver level	77×3 00=	231.00
530#34 Hw+ Stain (Kitchen Idin.)	320×9,50=	3040.00
(cause bts/ stain (std areas)	800×1.65=	1320.00
	Add	7 247.30
	credit	3003,25
manner according to standard practices. Any atteration or deviation from at	one specifications	11 2111 05
: : : : : : : : : : : : : : : : : : :	Decome all extra	551.73
charge over and above the estimate. All agreements contingent upon sting delays beyond our control. Owner to carry fire, windstorm and other necess workers are fully covered by Workmen's Compensation insurance:	ary insurance. Our HST	3 318 3 IL
	Add	4795.788
Acceptance of Proposal — the above prices, and conditions are satisfactory and are hereby as and conditions are satisfactory and are hereby as and conditions are satisfactory and are hereby as	specifications ccepted. You signature	
and conditions are satisfactory and are nereby at are authorized to do the work as specified. Pay made as outlined above.	THORIT WIII DE	
made as builling		
Date of Acceptance	Signature	
Floor Covering Specialists	s (Off.) 837-9373	

## **Purchase Orders**

From:

Amanda Billard-Cabana <amanda@orleanscarpet.com>

Sent:

Tuesday, June 23, 2020 11:11 PM

To:

**Purchase Orders** 

Subject:

RATHWELL LANDING LOT 307

**Attachments:** 

RATHWELL LANDING LOT 307.pdf

Importance:

High

Hi Ariel,

Please see attached PO request for lot 307 Billing this month (June 2020)

Thank you Amanda Cabana Project Coordinator

Orléans Carpet and Eagleson Flooring Serving you since 1987

Ottawa's only Stainmaster Flooring Centres®

P. 613-837-9373 ext.132

F. 613-837-5515

www.orleanscarpet.com

Billing this month June

### **Purchase Orders**

From:

Amanda Billard-Cabana <amanda@orleanscarpet.com>

Sent:

Tuesday, June 30, 2020 1:37 PM

To:

Purchase Orders

Cc:

Daniel Guerin

Subject:

Re: Rathwell Landing Lot 307

Hi Ariel,

Sorry about that, you are right the 300.00 is open to below. Do you want me to send you a revised or will you change it on your end?

Thank you Amanda Cabana Project Coordinator

## Orléans Carpet and Eagleson Flooring Serving you since 1987

Ottawa's only Stainmaster Flooring Centres®

P. 613-837-9373 ext.132 F. 613-837-5515 www.orleanscarpet.com

**From:** Purchase Orders <PO@valecraft.com>

**Sent:** June 30, 2020 1:33 PM

To: Amanda Billard-Cabana <amanda@orleanscarpet.com>

Cc: Daniel Guerin <dguerin@valecraft.com>

Subject: Rathwell Landing Lot 307

Please verify the pricing for Item #46 Rathwell Landing Lot 307. As per the Contract for 2019-2020 Carpeting. Total on extras for 2 Colours of Carpet Selections comes to only \$180.

# Ariel Valdes Purchasing Assistant



210-1455 Youville Drive Orleans, Ont, K1C 6Z7

Tel: 613-837-1104 Ext. 220

Fax: 613-837-5901

From: Amanda Billard-Cabana <amanda@orleanscarpet.com>

Sent: Tuesday, June 23, 2020 11:11 PM